
 

 

Answer on Question #57114 – Math – Algebra  

4. What is the domain for the following function?  

𝑦 =
4

𝑥2
+ 1 

A. (x ≠ 3) 

B. (x ≠ 0) 

C. (all real numbers)  

D. (x ≠ - 3) 

Solution 

The function is defined for values of 𝑥, not equal to zero, because it is impossible to   

divide by zero. The domain will be the following: 

𝑥2 ≠ 0 

𝑥 ≠ 0 

Answer:  B. (x ≠ 0) 

 

5. What is the range for the following function?  

𝑦 =
1

𝑥 + 3
+ 2 

A. {y: y ∈ R, y ≠ 2} 

B. {y: y ∈ R, y ≠ 3}  

C. {y: y ∈ R} 

D. {y: y ∈ R, y ≠ - 2} 

Solution 

To get the range for the function, solve the equation for A: 

1

𝑥 + 3
+ 2 = 𝐴, 𝐴 𝜖 𝐸(𝑦) 

1

𝑥 + 3
+ 2 = 𝐴 

1

𝑥 + 3
= 𝐴 − 2 

(𝑥 + 3)(𝐴 − 2) = 1 

𝐴𝑥 − 2𝑥 + 3𝐴 − 6 − 1 = 0 



 

 

𝑥(𝐴 − 2) + 3𝐴 − 7 = 0 

𝑥(𝐴 − 2) = 7 − 3𝐴 

𝑥 =
7 − 3𝐴

𝐴 − 2
 

𝐴 − 2 ≠ 0 

𝐴 ≠ 2 

 Answer:  A. {y: y ∈ R, y ≠ 2} 

 

7. Which function does not have a vertical asymptote?  

A. 𝑦 = 5𝑥 −
1

𝑥
 

B. 𝑦 =
𝑥

1
+ 𝑥2 

C. 𝑦 =
5𝑥

1
− 𝑥2 

D. 𝑦 =
5𝑥

𝑥
+ 𝑥2 

Solution 

 For 𝑦 = 5𝑥 −
1

𝑥
, the domain is D(𝑥) =  (−∞; 0) ∪ (0; +∞); 

 a vertical asymptote: 𝑥 = 0. 

 For 𝑦 =
𝑥

1
+ 𝑥2 = 𝑥 + 𝑥2, the domain is    D(𝑥) =  ℝ; 

 a vertical asymptote: none. 

 For 𝑦 =
5𝑥

1
− 𝑥2 = 5𝑥 − 𝑥2,  the domain is   D(𝑥) =  ℝ; 

a vertical asymptote: none. 

For 𝑦 =
5𝑥

𝑥
+ 𝑥2, the domain is  D(𝑥) = (−∞; 0) ∪ (0; +∞) ; 

a vertical asymptote: 𝑥 = 0 . 

Answer:  B. 𝑦 =
𝑥

1
+ 𝑥2 

C. 𝑦 =
5𝑥

1
− 𝑥2 
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